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And he mentions a damage which is not apparent

OVERVIEW

The X713 reasons that 1" can maintain P17 7°2% 12°1 11°RW 2117 and nevertheless he
mentions 70141 YT XnvnA to teach us that there is a different type of 177, namely a
121 1°RW pra. The obvious question is that to teach us a 73%1 11°XWw 2177, one of the
three would suffice, why is " mentioning all three?!’

mooIn anticipates a difficulty and resolves it:
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And the reason he mentions three types of 12°1 11X p1°7 (which are yn7n Xnvn
J01n1), when seemingly any one would suffice; it is because all three of them are
taught in the 712 in PP PAB.

mooin will offer a proof that it is proper to mention duplicate M2X if they are mentioned
elsewhere in a m1wn:
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Just as 1" taught 29w oW X PR ,7''w where he mentions many types,
because they are enumerated in the 71wn;” here too by 13°1 KXW 171 he also mentions the three
types that are enumerated in the 71wn.

SUMMARY
It is appropriate to mention various types of pri (even if they are similar) if these
various types are mentioned in a mwn.

THINKING IT OVER

Seemingly the comparison of 70121 ¥ Xnun to the 2w "7 is not clear. By the '7
oMW there are different laws governing the various 2™ W (that is why he
mentions all of them); however by 70121 ¥y271 Xnun the same law applies to all. The
question remains why does he mention all three?!”

" If we maintain that P AW RY 1271 1RW i and one is 21 for 01 ynTa Xnvn because of a 01p, it is then
understood, why all three are mentioned, for there were three different 2°01p. The X713 in v ) explains that we could
not derive the 0°01p from each other. However, if we maintain that p1>77 720 12°1 1R 1°7, then 7031 ¥a7ma1 Ravn and
any other P11 are all the same. It would be sufficient just to mention one, in order to mention a 72°1 1°RY P,

Zxax ",

3 See 121 aR" 1R KXW,
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